Summer Session Final Test






Name _________
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
The diameter of a carbon atom is 0.000 000 000 154 m. What is this number expressed in scientific notation?

	a.
	1.54 [image: image1.png]
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 m
	c.
	1.54 [image: image3.png]
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 m

	b.
	1.54 [image: image5.png]
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 m
	d.
	1.54 [image: image7.png]
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 m


____
2.
Which of the following measurements contains two significant figures?

	a.
	0.004 00 L
	c.
	0.000 44 L

	b.
	0.004 04 L
	d.
	0.004 40 L


____
3.
Which of the following measurements is expressed to three significant figures?

	a.
	0.007 m
	c.
	7.30 [image: image9.png]


 10[image: image10.png]


 km

	b.
	7077 mg
	d.
	0.070 mm


____
4.
How many significant figures are in the measurement 0.003 4 kg?

	a.
	two
	c.
	five

	b.
	four
	d.
	This cannot be determined.


____
5.
Express the product of 2.2 mm and 5.00 mm using the correct number of significant digits.

	a.
	10 mm[image: image11.png]



	c.
	11.0 mm[image: image12.png]




	b.
	11 mm[image: image13.png]



	d.
	11.00 mm[image: image14.png]





____
6.
What is the density of an object having a mass of 8.0 g and a volume of 25 cm[image: image15.png]


?

	a.
	0.32 g/cm[image: image16.png]



	c.
	3.1 g/cm[image: image17.png]




	b.
	2.0 g/cm[image: image18.png]



	d.
	200 g/cm[image: image19.png]





____
7.
Which formula does NOT represent a molecule?

	a.
	H2O (water)
	c.
	CO2 (carbon dioxide)

	b.
	NH3 (ammonia)
	d.
	NaCl (table salt)


____
8.
What is the formula for aluminum sulfate?

	a.
	AlSO4
	c.
	Al2(SO4)3

	b.
	Al2SO4
	d.
	Al(SO4)3


____
9.
What is the formula for barium hydroxide?

	a.
	BaOH
	c.
	Ba(OH)2

	b.
	BaOH2
	d.
	Ba(OH)


____
10.
Name the compound Ni(ClO3)2.

	a.
	nickel chlorate
	c.
	nickel chlorite

	b.
	nickel chloride
	d.
	nickel peroxide


____
11.
Name the compound KClO3.

	a.
	potassium chloride
	c.
	potassium chlorate

	b.
	potassium trioxychlorite
	d.
	hypochlorite


____
12.
Name the compound CuCO3.

	a.
	copper(I) carbonate
	c.
	cuprous carbide

	b.
	cupric trioxycarbide
	d.
	copper(II) carbonate


____
13.
Name the compound CF4.

	a.
	calcium fluoride
	c.
	carbon tetrafluoride

	b.
	carbon fluoride
	d.
	monocarbon quadrafluoride




____
14.
Name the compound SO3.

	a.
	sulfur trioxide
	c.
	selenium trioxide

	b.
	silver trioxide
	d.
	sodium trioxide


____
15.
Name the compound N2O3.

	a.
	dinitrogen oxide
	c.
	nitric oxide

	b.
	nitrogen trioxide
	d.
	dinitrogen trioxide


____
16.
What is the formula for nitrogen trifluoride?

	a.
	NiF3
	c.
	N3F

	b.
	NF3
	d.
	Ni3F


____
17.
What is the formula for diphosphorous pentoxide?

	a.
	P2PeO5
	c.
	P2O4

	b.
	PO5
	d.
	P2O5


____
18.
What is the formula mass of magnesium chloride, MgCl2?

	a.
	46 amu
	c.
	95.211 amu

	b.
	59.763 amu
	d.
	106.354 amu


____
19.
What is the formula mass of (NH4)2SO4?

	a.
	114.09 amu
	c.
	128.06 amu

	b.
	118.34 amu
	d.
	132.13 amu


____
20.
The molar mass of NH3 is 17.03 g/mol. How many moles of NH3 are present in 107.1 g?

	a.
	0.1623 mol
	c.
	6.289 mol

	b.
	3.614 mol
	d.
	107.1 mol


____
21.
What is the percentage composition of CF4?

	a.
	20% C, 80% F
	c.
	16.8% C, 83.2% F

	b.
	13.6% C, 86.4% F
	d.
	81% C, 19% F


____
22.
What is the percentage composition of CO?

	a.
	50% C, 50% O
	c.
	25% C, 75% O

	b.
	12% C, 88% O
	d.
	43% C, 57% O


____
23.
A molecular compound has the empirical formula XY3. Which of the following is a possible molecular formula?

	a.
	X2Y3
	c.
	X2Y5

	b.
	XY4
	d.
	X2Y6


____
24.
The molecular formula for vitamin C is C6H8O6. What is the empirical formula?

	a.
	CHO
	c.
	C3H4O3

	b.
	CH2O
	d.
	C2H4O2


____
25.
A compound's empirical formula is N2O5. If the formula mass is 108 amu, what is the molecular formula?

	a.
	N2O5
	c.
	NO3

	b.
	N4O10
	d.
	N2O4


____
26.
A compound's empirical formula is CH3. If the formula mass is 30 amu, what is the molecular formula?

	a.
	CH3
	c.
	C2H6

	b.
	CH4
	d.
	C3H9


_____27.  What amount of oxygen, O2, (in moles) contains 1.8 ×1022 molecules?

A.
0.0030 
B.
0.030

C.
0.30

D.
3.0

_____28.   Which compound has the empirical formula with the greatest mass?

A.
C2H6

B.
C4H10

C.
C5H10

D.
C6H6

_____ 29 Consider the composition of the species W, X, Y and Z below. Which species is an anion? 

	Species
	Number of protons
	Number of neutrons
	Number of electrons

	W
	9
	10
	10

	X
	11
	12
	11

	Y
	12
	12
	12

	Z
	13
	14
	10


A.
W

B.
X

C.
Y

D.
Z

_____ 30 A hydrocarbon contains 90 % by mass of carbon. What is its empirical formula?

A.
CH2
B.
C3H4

C.
C7H10

D.
C9H10
_____ 31What is the correct number of each particle in a fluoride ion, 19F–?

	
	protons
	neutrons
	electrons

	A.
	9
	10
	8

	B.
	9
	10
	9

	C.
	9
	10
	10

	D.
	9
	19
	10


_____32  How many hydrogen atoms are contained in one mole of ethanol, C2H5OH?

A.
5

B.  6

C.  1.0 × 1023

D.  3.6 × 1024
_____ 33  The percentage by mass of the elements in a compound is 

C = 72%,    H = 12 %,    O = 16%.


What is the mole ratio of C : H in the empirical formula of this compound?

A.
1 : 1
B.
1 : 2

C.
1 : 6

D.
6 : 1

_____ 34  What is the IUPAC name for CH3CH2CH(CH3)2?

A.
1,1-dimethylpropane

B.
2-methylbutane

C.
isopentane

D.
ethyldimethylmethane

_____35  How many protons, neutrons and electrons are there in the species 26Mg2+ ?

	
	Protons
	Neutrons
	Electrons

	A.
	10
	14
	12

	B.
	12
	14
	10

	C.
	12
	26
	10

	D.
	14
	12
	12


_____36  Which of the following contains the greatest number of molecules?

A.
1 g of CH3Cl

B.
1 g of CH2Cl2
C.
1 g of CHCl3

D.
1 g of CCl4

_____ 37  Which of the following compounds has/have the empirical formula CH2O?

I.
CH3COOH

II.
C6H12O6
III.
C12H22O11
A.
II only


B.
III only



C.
I and II only

D.
II and III only

_____ 38  A certain sample of element Z contains 60% of 69Z and 40% of 71Z. What is the relative atomic mass of element Z in this sample?

A.
69.2

B.
69.8

C.
70.0

D.
70.2

_____ 39 .What is the difference between two neutral atoms represented by the symbols [image: image20.wmf]27

59

Co and [image: image21.wmf]28

59

Ni ?
A.
The number of neutrons only.

B.
The number of protons and electrons only.

C.
The number of protons and neutrons only.

D.
The number of protons, neutrons and electrons.

_____ 40.  Which is a correct definition of the term empirical formula?

A.
formula showing the numbers of atoms present in a compound

B.
formula showing the numbers of elements present in a compound

C.
formula showing the actual numbers of atoms of each element in a compound

D.
formula showing the simplest ratio of numbers of atoms of each element in a compound

_____ 41  How many electrons are there in one [image: image22.wmf]12

24

Mg2+ ion?

A.
10

B.
12

C.
14

D.
22

_____42  Which formula is a correct representation of pentane?

A.
CH3CH2CHCH2CH3
B.
(CH3CH2)2CH3
C.
CH3(CH2)3CH3
D.
CH3(CH3)3CH3
_____ 43 
How many oxygen atoms are present in 0.0500 mol carbon dioxide?

A.
3.01 × 1022

B.
6.02 × 1022
C.
6.02 × 1023
D.
1.20 × 1024
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D
DIF:
L1
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p. 63
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3.1.1

2.
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C
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L1
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p. 66
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3.1.2

3.
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C
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4.
ANS:
A
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p. 66
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3.1.3
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B
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L1
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p. 68, p. 71
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3.1.3

6.
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A
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p. 90, p. 91
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3.4.1
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D
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II
OBJ:
7-1.1
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C
DIF:
III
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7-1.2

9.
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C
DIF:
III
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7-1.2
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A
DIF:
III
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7-1.3

11.
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C
DIF:
III
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7-1.3

12.
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D
DIF:
III
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7-1.3

13.
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C
DIF:
II
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7-1.5

14.
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A
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II
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7-1.5

15.
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D
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II
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7-1.5

16.
ANS:
B
DIF:
II
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7-1.6

17.
ANS:
D
DIF:
II
OBJ:
7-1.6

18.
ANS:
C
DIF:
III
OBJ:
7-3.1

19.
ANS:
D
DIF:
III
OBJ:
7-3.1

20.
ANS:
C
DIF:
III
OBJ:
7-3.2

21.
ANS:
B
DIF:
III
OBJ:
7-3.4

22.
ANS:
D
DIF:
III
OBJ:
7-3.4

23.
ANS:
D
DIF:
II
OBJ:
7-4.3

24.
ANS:
C
DIF:
III
OBJ:
7-4.3

25.
ANS:
A
DIF:
III
OBJ:
7-4.4

26.
ANS:
C
DIF:
III
OBJ:
7-4.4

